600 100 200
13
191
152 80
2001 191 406ha
171ha 4,190 2,720
17
58
40
55
29 9 50 1ha
2ha
1 2ha
600 100 200
345 435




(1ha ) [(1 2ha) |(2ha )
26 | 9.3| 62 [18.7| 54 [19.4| 189 [12.6
52 118.6] 50 [15.1| 46 [16.5[ 185 [16.4
45 [16.1 50 |15.1 29 110.4| 146 [12.9
32 |11.5 38 [11.4| 30 [10.8[ 130 [11.5
23 1 8.2 25 | 7.5 21 [ 7.6] 92 [ 8.1
30 [10.8 7 2.1 12 4.3 64 5.7
16 5.7 17 5.1 13 4.7 55 1 4.9
8 2.9 18 5.4 13 4.7 47 4.2
9 | 3.2 9 | 2.7 2.5 40 | 3.5
8 1 2.9] 12 | 3.6/ 11 [ 4.0f 36 | 3.2
9 | 3.2 7 1 2.1 11 [ 4.0f 32 | 2.8
2 10.7 2 10.6] 16 [ 5.8 28 [ 2.5
4 1.4 8 2.4 2.2 22 2.0
71 2.5 310.9 1.1 21 [ 1.9
6 | 2.2] 11 | 3.3 0 19 [ 1.7
2 0.7 9 2.7 0.7 16 1.4
010 4 1 1.2 1.4 8 | 0.7
279 (100 | 332 [100 | 278 [100 (1130 (100
(D) 54 29 15 13 1 7 7 3
50____._ DI 44 | __ 34 __|_ 121 _. 22___|____ 0___| ___ 0___| __ 22___|___. 0___|
(B50_1ha) _|___ 75 __|___ 25| 10___| ___ S .10 ___ 0 __ | ___ 0 __ | ___ 0___]
@A_2ha) _|___ 47 | __ 33___]___ 24| ___ 9 __|.___ 0 __|____ 6___|___ 12 | ___ 2___|
(2ha ) 37 27 12 15 0 24 0 12
() 50 39 33 6 0 11 0 0
(@) 57 28 15 12 1 9 5 1
50 50 100 200 300 400 500 600
100 200 300 400 500 600 ( )
() 5 8 24 12 11 9 8 23 345
Bo_____ )22 |22 | ___ 0| __ 34 | ___ o[ 11 | ___ 0| __ 11 1 233__1
(B0_1hay _|___ 9 [ __18 _|_ __ 27 |14 | ___ S| 0| ___ 9 [ __ 18| __ 277__|
Q_2ha) __|._. 3. 0__1__. 24| 12 | 15 _|____ 6__1__. 121 28__|___ 400__|
(2ha ) 0 4 31 4 15 19 4 23 370
(D) 11 6 6 6 0 22 22 27 435
(@D 6 8 20 12 11 10 10 23 355
20 30 40 50 60 64 |65
1 12 26 23 19 25 55.0
[N T N O __ |1 _| ___ 2. | ___ 3| ___ 3__1.___ 4 | __ 58.4_|
(50__1ha)__|__. 0. __|.___ 0. _|.___ 6| ___ 6| ___ T R S N 60.0_]
(1 _2ha) __|_ __ 0 __|.___ 4 | ___ 8 _1____ A 9 | ___ 6__1___ 55.1_|
(2ha ) 1 7 10 7 4 4 49.6
0 1 6 7 1 3 53.5
1 13 34 30 20 32 55.3
1/2
13 12 15



